**Notice:** Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

#### WELL PLUGGING RECORD

K.A.R. 82-3-117

Form CP-4
December 2003
Type or Print on this Form
Form must be Signed
All blanks must be Filled

Lease Operator: Bear	Petroleum, Inc.				API Number:15		
Address: PO Box 43	8, Haysville, KS 6706	30			Lease Name: Boo	mhower A	PCT PCI
	-1225 Operato		419			_5	CP-1
Type of Well: Oil	IR, Water Supply Well, Cathoo	Dock	et #:				V2 - SE - NE  South Section Line
	vas approved on: 3/14/0	^	•	(Date)	4240		
<sub>bv:</sub> Deines				` `	Feet from		West Section Line
		well log attached			Sec Twp County: Russell	S. R.	East West
Producing Formation(s):	List All (If needed attach an	other sheet)			Date Well Complete	ed:	
	Depth to Top:	Bottom	:	T.D	Plugging Commend	5-12-06	
	Depth to Top:	Bottom	:	T.D	Plugging Complete	. 5-17-06	
	Depth to Top:	Bottom	:	T.D	Plugging Complete	od:	
Show depth and thickne	ss of all water, oil and gas	s formations.					
	Water Records			Casing Record (Su	rface Conductor & Pro	oduction)	
Formation	Content	From	То	Size	Put In	Pulled Out	
				10 3/4	901		
				7	3374	1213	
Sand at 3275', cut	plugs were used, state the surface 4' below grou 50 sacks at 900', o	ınd, baled 7	sacks, ri	oped 2000', 180	0', 1650', 1300',		13', pumped 150
	<sub>actor:</sub> Quality Well Ser				License #: 31	925	RECEIVED
Address: 401 West	Main, Lyons, KS	67554					2000
Name of Party Responsil	ole for Plugging Fees: Be	ear Petrole	um, Ind	<b>).</b>			JUN 0.5 2003
state of Kansas		Sødguick	Wenter of the second	, ss.			KCC WICHITA
K.A. 50	nremmer			(Employee of O	perator) or (Operato	r) on above-desc	ribed well, being first duly
	t I have knowledge of the	facts statement	ts, and ma	tters herein containe	d, and the log of the	above-describe	d well is as filed, and the
ame are true and correc	t, so help me God.			//2/			
		(Signature) (Address)	0. Bo	x 438, Ha	ysville, Ka	5 61060	
	SUBSCRIBED and S	WORN TO hef	ore me this	2nd day of_	June		20 06
SHANNON HOWL	1 /	1-1 0	۸H	-		310108	1
Notary Public - State of Ka		Notary Publ	ic	My C	ommission Expires:	-110100	

## Quality Well Service, Inc.

#### 401 West Main Lyons, KS 67554

## **Invoice**

Date	Invoice #		
05/30/2006	771		

Bill To	
Bear Petroleum, Inc.	
PO Box 438	
Haysville KS 67060	

P.O. No.	Terms	Lease Name
	net	Boomhower SA

Description	Qty	Rate	Amount
Rig Time	32.5	160.00	5,200.00T
Trucking Floor		100.00	100.00T
Sand		35.00	35.00T
Cement	7	9.00	63.00T
Shots	2	150.00	300.00T
Torch		50.00	50.00T
Water Truck	6	65.00	390.00T
Backhoe	5.5	65.00	357.50T
Clerical		20.00	20.00T
Phone Calls		15.00	15.00T
Fresh Water		20.00	20.00T
Wiping Rubber		20.00	20.00T
5-12-06 Drove to location, raised pole, checked hole, sanded off bottom, loaded casing with water, dug cellar, unpacked casing head, set floor, checked hole, sand was at 3275', pulled slips, cut surface off 4' below ground, had 12" stretch, drove home.  5-15-06 Drove to location, baled 7 sacks cement with baler, ripped casing at 2000,', 1800', casing cutter fell off ripper, shut down, drove home.			
5-16-06 Drove to location, fished out casing cutter with tubing, ripped casing at 1650', 1300', worked pipe, pipe wasn't free, shut down, drove home.  5-17-06		JU	ECEIVED N 0 5 2908 C WICHITA

Subtotal
Sales Tax (7.3%)
Total

## Quality Well Service, Inc.

#### 401 West Main Lyons, KS 67554

Bear Petroleum, Inc. PO Box 438

Bill To

#### **Invoice**

Date	Invoice #
05/30/2006	771

Haysville KS 67060				
	P.O. No.	Terms		Lease Name
		net		Boomhower SA
Description		Qty	Rate	Amount
alled to 900', pumped 50 sacks, pulled to 150', circulated with 125 satisfing, tore down rig, emptied pit, backfilled pit & cellar.	exs, puneu lest of			RECEIVED JUN 0 5 200

\$6,570.50 **Sales Tax (7.3%)** \$479.65 **Total** \$7,050.15

Subtotal

Page 2



# FIELD ORDER Nº C 030417

BOX 438 • HAYSVILLE, KANSAS 67060

316-524-1225 DATE	-1/	2006
IS AUTHORIZED BY: BOAR PETROLEUM (NAME OF CUSTOMER)		CV
	State	
To Treat Well As Follows: Lease Boomhower Well No. Custom	State	
Sec. Twp. Range County RUSSELL_	State	KS
CONDITIONS: As a part of the consideration hereof it is agreed that Copeland Acid Service is to service or treat at owners not to be held liable for any damage that may accrue in connection with said service or treatment. Copeland Acid Service implied, and no representations have been relied on, as to what may be the results or effect of the servicing or treating said treatment is payable. There will be no discount allowed subsequent to such date. 6% interest will be charged after 60 days our invoicing department in accordance with latest published price schedules.  The undersigned represents himself to be duly authorized to sign this order for well owner or operator.	has made no repre I well. The conside	esentation, expressed or eration of said service or
THIS ORDER MUST BE SIGNED BEFORE WORK IS COMMENCEDByBy		
Well Owner or Operator	Agent	
CODE QUANTITY DESCRIPTION	UNIT COST	AMOUNT
Pravil 28 MICEAGE FICKUP	100	28 00
1101 28 MICEAGE FICKUP 2101 28 MICEAGE PUMP TRUCK	300	84 00
1104 1 Pump Charge		500 00
450 Huces	125	11250
7,400		,,0
1/50 325 60/40 Poz 250 bel	700	2275-00
21150 23 8 % Add Cel	950	218 50
		RECEIVED
		UN 0 5 2006
	K	C WICHITA
	125	1/01/25
1)00 32 5 Bulk Charge	/ 10	406
Bulk Truck Miles $14.37 \times 28 = 400.47 $	1 /	440 -
Process License Fee onGallons		
TOTAL BILLING	à	4064 69
I certify that the above material has been accepted and used; that the above service was performanner under the direction, supervision and centrol of the owner, operator or his agent, whose	rmed in a good signature appe	and workmanlike ears below.
Copeland Representative A.G. Curity		
Station	erator or Agent	
RemarksNET 30 DAYS		